A. TXA vs. NO TXA, TOTAL RBC

TXA Control Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% Cl
5.2.1 RCT
CRASH-2 2010 (23) 6.06 9.98 5067 6.29 10.31 5160 27.6% -0.23[-0.62,0.16] -
Subtotal (95% CI) 5067 5160 27.6% -0.23[-0.62,0.16] 4
Heterogeneity: Not applicable
Test for overall effect: Z = 1.15 (P = 0.25)
5.2.2 OBS
Cole 2015 (60) 7 7.4 160 2 5 225 25.7% 5.00 [3.68, 6.32] —a—
Subtotal (95% CI) 160 225 25.7% 5.00 [3.68, 6.32] <o
Heterogeneity: Not applicable
Test for overall effect: Z = 7.43 (P < 0.00001)
5.2.3 RETRO
Morrison 2013 Cryo+ (61) 22 13.2 258 20.1 16 168 20.2% 1.90([-1.01, 4.81) T
Morrison 2013 Cryo- (61) 8 6.2 148 6 0.8 758 26.6% 2.00 [1.00, 3.00] -
Subtotal (95% CI) 406 926 46.7% 1.99 [1.04, 2.94] <&
Heterogeneity: Tau® = 0.00; Chi* = 0.00, df = 1 (P = 0.95); I = 0%
Test for overall effect: Z = 4.12 (P < 0.0001)
Total (95% CI) 5633 6311 100.0% 2.14 [-0.36, 4.63] +>
Heterogeneity: Tau® = 5.84; Chi’ = 67.32, df = 3 (P < 0.00001); I’ = 96% :—10 _55 ) S= 10:
Test for overall effect: Z = 1.68 (P = 0.09) Favors TXA Favors Control
Test for subaroup differences: Chi* = 67.32, df = 2 (P < 0.00001), I’ = 97.0%

B. TXA vs. NO TXA, MT
TXA Control Odds Ratio Odds Ratio

Study or Subgroup Events Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% ClI
Morrison 2013 (61) 272 406 111 758 100.0% 11.83 [8.86, 15.79]
Total (95% CI) 406 758 100.0% 11.83 [8.86, 15.79] &
Total events 272 111
Heterogeneity: Not applicable No201 ; T so

Test for overall effect: Z = 16.78 (P < 0.00001)

Favors TXA F

avors Control



C. TXA vs. NO TXA, VTE

TXA Control Odds Ratio Odds Ratio
Study or Subgroup  Events Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% Cl
5.4.1 RCT
CRASH-2 2010 (23) 168 10060 201 10067 38.8% 0.83 [0.68, 1.03]
Subtotal (95% ClI) 10060 10067 38.8% 0.83 [0.68, 1.03]
Total events 168 201

Heterogeneity: Not applicable
Test for overall effect: Z = 1.72 (P = 0.08)

5.4.2 OBS

Cole 2015 (60) 8 160 9 225 32.3% 1.26 [0.48, 3.35]
Subtotal (95% ClI) 160 225 32.3% 1.26 [0.48, 3.35]
Total events 8 9

Heterogeneity: Not applicable
Test for overall effect: Z = 0.47 (P = 0.64)

5.4.3 RETRO

Morrison 2012 (24) 15 293 3 603 29.0% 10.79 (3.10, 37.58] —
Subtotal (95% ClI) 293 603 29.0% 10.79 [3.10, 37.58] -
Total events 15 3

Heterogeneity: Not applicable
Test for overall effect: Z = 3.74 (P = 0.0002)

Total (95% CI) 10513 10895 100.0% 2.00 [0.53, 7.50]
Total events 191 213

Heterogeneity: Tau®’ = 1.16; Chi* = 16.33, df = 2 (P = 0.0003); I’ = 88% I t } t {
Test for overall effect: Z = 1.03 (P = 0.30) 0.01 Fa(\)/blrs TXAlFavorslé)ontr%)?o
Test for subaroup differences: Chi’ = 16.21, df = 2 (P = 0.0003). I’ = 87.7%

SDC Figure 7: Forest plots for TXA vs. No TXA, Outcome=Total RBC (A); MT (B); VTE (C).



